University of Nebraska - Lincoln

DigitalCommons@University of Nebraska - Lincoln

Human-Wildlife Interactions

Wildlife Damage Management, Internet Center

Fall 2009

Developing bird-strike risk assessment models for open-water restorations

Justin D. Hart Central Science Laboratory, Sand Hutton, York, UK, j.hart@csl.gov.uk

Alison Colyer Central Science Laboratory, Sand Hutton, York, UK

John R. Allan Central Science Laboratory, Sand Hutton, York, UK

Follow this and additional works at: https://digitalcommons.unl.edu/hwi



Part of the Environmental Health and Protection Commons

Hart, Justin D.; Colyer, Alison; and Allan, John R., "Developing bird-strike risk assessment models for openwater restorations" (2009). Human-Wildlife Interactions. 15. https://digitalcommons.unl.edu/hwi/15

This Article is brought to you for free and open access by the Wildlife Damage Management, Internet Center for at DigitalCommons@University of Nebraska - Lincoln. It has been accepted for inclusion in Human-Wildlife Interactions by an authorized administrator of DigitalCommons@University of Nebraska - Lincoln.

Developing bird-strike risk assessment models for open-water restorations

JUSTIN D. HART, Central Science Laboratory, Sand Hutton, York, North Yorkshire, UK, YO41 1LZ j.hart@csl.gov.uk

ALISON COLYER, Central Science Laboratory, Sand Hutton, York, North Yorkshire, UK, YO41 1LZ JOHN R. ALLAN, Central Science Laboratory, Sand Hutton, York, North Yorkshire, UK, YO41 1LZ

Abstract: Mineral extraction sites that are restored to open water can increase bird-strike risk if they are planned near airports. This can generate conflict between the minerals industry and safeguarding authorities. To help resolve this potential conflict, it would be useful to predict how new restorations affect local water-bird populations so that mineral deposits can be exploited and restored in safeguarded zones without compromising flight safety. Bird abundances and movements at new restorations can be estimated with statistical models that use the environmental characteristics of restoration schemes as predictor variables. These models can improve guidance in safeguarding, provided that they comprise parameters that can be quantified or conceived at the planning stage. In this paper, we present suitable models based on bird counts conducted during 2004–2006 at 256 open-water restoration sites. We used the morphology of the restorations, their geo-spatial relationships, ecological characteristics and usage as explanatory variables in regression models that describe water-bird abundances, the likely presence of geese and gulls, and the frequency of bird movements in the nonbreeding and breeding seasons. The models that can best be used as predictive tools were selected using multi-modal inference techniques. We demonstrated how their application can provide objective data on the likely impact a restoration design will have on bird-strike risk.

Key words: bird strike, England, geese, gulls, human-wildlife conflicts, mineral extraction, predictive models, restorations, risk assessment, water birds.

Collisions between aircraft and birds (Dale 2009, Dove et al. 2009, Bernhardt et al. 2009) and mammals (Peurach et al. 2009, DeVault et al. 2009, VanCauteren et al. 2009) pose a risk to flight safety and cause significant economic loss (Allan 2002, Cleary et al. 2006). In recognition of these risks, the U.K. government conforms to International Civil Aviation Organization recommendations (ICAO 2000) and has set up an airport safeguarding process. Any development within 13 km of a safeguarded civil or military airport must be assessed to determine whether it may cause an increase in bird-strike risk.

This process often generates conflicts between the safeguarding authorities and the minerals industry, especially when openwater restoration schemes that attract wildlife are planned for mineral extraction sites near airports. These conflicts arises primarily due to the types and numbers of water birds that these restoration schemes may attract. Water birds, particularly waterfowl and gulls, are a major threat to air safety on account of their size and behavior (Rochard and Horton 1980, Allan 2006).

encompasses many potential mineral deposits falls within safeguarded zones around airfields (Henney et al. 2003). Mineral aggregates are an important strategic resource, and, in the United Kingdom, restorations of extraction sites that enhance wildlife also contribute to biodiversity action plans (Bate et al. 1998, Green Balance and Aquatic Environments Research Centre [AERC] Ltd. 1998). It would be useful to predict the likely outcome of restorations on local bird populations so that mineral deposits in safeguarded zones can be exploited and restored without compromising aviation safety.

The environmental characteristics of open water restorations that affect the abundances of water birds have been identified in various quantitative distribution models (e.g., Sillén and Solbreck 1977, Stoecker et al. 1982, Tuite et al. 1984, Bell et al. 1997). Some of these characteristics are quantifiable at the planning stage of development and could be used to assess the potential impact a new design of open water restoration may have on bird-strike

We derived statistical models of waterbird abundances and movements at open Some 44% of the land area in England that water restorations from the environmental characteristics of the restorations, their usage, and their geo-spatial relationships. We used multi-modal inference techniques to identify the best approximating model for estimating (1) total water-bird abundance in the nonbreeding and breeding seasons, (2) the likely presence or absence of geese and gulls (the most hazardous species), and (3) the frequency of radar-tracked movements of water birds in the nonbreeding season.

Methods

Study area

We gathered data from 256 restorations between October 2004 and September 2006. These restorations were concentrated in 2 areas, the Thames valley and the Humber catchment, including sites in the basins of the Trent and Ouse rivers. We obtained bird counts and geospatial data from all the restorations. We collected more detailed characteristics from a subset of 97 of the sites. Restorations were allocated to this subset using a selection procedure that ensured key features remained represented within the subset of data. To achieve this, we constructed a matrix based on the initial relationships that were identified between the number of water birds and the area of open water by Robinson et al. (2004), as well as possible geospatial effects caused by the number of adjacent restorations (Brown and Dinsmore 1986, Fairbairn and Dinsmore 2001). The matrix grouped the restorations according to each site's area of open water (either <6, 6-15, or >15 ha) and its proximity to others (either ≤2 restorations, 2–10 restorations, or >10 restorations). A maximum of 10 restorations was allocated per group; we discarded extraneous restorations by random selection where groups were over populated.

Measuring the environmental features of the restorations

We geo-referenced the location and outline of all the restorations with a geographic information system (GIS), ARCview 9.0 (ESRI 1999), and used this software to accurately measure the restorations, geo-spatial and morphological features. All the restorations were grouped into one of 3 regions—the North, Midlands, or South of England—to account for any regional variation in bird numbers (Table 1). We also grouped the restorations into clusters according

to their proximity to adjacent sites. Restorations >0.5 km apart were allocated to separate clusters. This acquisition was important because mineral extraction sites rarely occur in isolation, and the presence of other adjacent sites may influence bird numbers and their movements (Brown and Dinsmore 1986, Fairbairn and Dinsmore 2001, Tiner 2003). Grouping the data in this way also enabled us to take account of differences in the water-bird populations among clusters of restorations and to identify the importance of individual restorations both within clusters, as well as within the whole data set. We allocated 45 clusters; the number of restorations within each cluster varied between one and ninetyeight, defining both isolated water bodies and extensive complexes of open water (Table 1).

From the subset of 97 restoration sites, we obtained data about the biology, water chemistry, and usage of each site. At these restorations we quantified the number of waterside habitats using Phase 1 Habitat Surveys (JNCC 2004). The number of waterside habitats can influence the diversity and abundance of water-bird populations (Sillén and Solbreck 1977, Bell et al. 1997). We recorded a maximum of 5 habitats around the restorations, and we investigated the effect of habitat as a 5-tiered factor in the models (Table 1). We also included as a continuous variable the percentage of shoreline that was composed of emergent reed beds. We included the presence of short grass as an additional factor in the models because large numbers of geese may gather at restorations where there is short grass (Tuite et al. 1984, Allan 1999).

We also recorded the presence of artificial rafts and fish stock, noting whether restorations were stocked with game fish (e.g., salmonids) or coarse fish (e.g., cyprinids). Rafts placed on restorations can attract birds by providing a platform for nesting gulls, terns, or waterfowl, as well as safe loafing sites (Andrews and Kinsman 1990). Presence of fish can reduce water-bird abundance through competition for food (Giles et al. 1989, Barnard 1990). There is also evidence that stocking with game fish has a greater impact on water-bird abundance than stocking with coarse fish (Giles 1992).

We recorded the pH, potassium content, and general hardness of the water in each restoration using a standardized testing kit, and we used these data as continuous variables

Table 1. The list of parameters we used to describe the geo-spatial relationships, morphology, biology, and use of the mineral extraction site restorations (n denotes the sample sizes obtained for each parameter). We used Subset 1 parameters as predictors of the bird abundances that were recorded at all 256 sites. We used Subset 2 parameters as predictors of the bird abundances at 97 sites where additional data on restoration features were collected. We used Subset 3 parameters as predictors of bird movements that we tracked by radar at 26 restoration sites. (n. a. = not applicable)

Function	Parameters	Scale	Transfor- mation	n	Subset
Geo-spatial	Cluster group	Factor 1–45 ^a	n. a.	256	*
	Region	1 = North, 2 = Midlands, 3 = South	n.a.	256	1,2
	Number of pits in the cluster	Continuous 1–98	none	256	1,2
	Total area of open water in the cluster	ha	none	256	1,2
	Total length of shoreline in the cluster	m	none	256	1,2
Site morphology	Area	ha	\log_{10}	256	1,2,3
-87	Perimeter or shoreline	m	\log_{10}	256	1,2,3
	Sinuosity ^e	Circumference of circle or perimeter	none	256	1,2,3
	Presence-absence of islands	0 = absent, 1 = present	n. a.	255	1,2,3
	Number of islands	0-30	none	255	1,2,3
	Area of islands	ha	none	189	2
Site biology	Habitat diversity	Factor 1–5 ^b	n. a.	97	2
	Presence/absence of short grass	0 = absent, 1 = present	n. a.	97	2
	Reed abundance	%	none	97	2
	Presence-absence of rafts	0 = absent, 1 = present	n/a	97	2
	Additional fish stock	1 = none, 2 = coarse, 3 = game	n/a	97	2
	Water pH	pH 1–12	none	96	2
	Potassium hardness	Tetra °dh	none	96	2
	General hardness	Tetra °dh	none	96	2
Site use	Recreational usage	Factor 1–5 ^c	n/a	97	2
	Public access group	Factor 1–4 ^d	n/a	95	2

^aThe clusters (and site number) were included in the linear mixed effects models of bird abundances as random effects (see Methods).

^b The number of National Vegetation Classification Phase 1 vegetation types adjacent to the bank (a range of 1 to 5 was recorded).

^c 1 = fishing, 2 = nature reserve, 3 = None, 4 = sailing, 5 = water sports.

d 1 = members only with full bank access to fishing permit holders or sailing club members, 2 = private with normally no access without owners permission, 3 = restricted to hides with no public access directly to the bank, 4 = unrestricted public access.

^e Sinuosity = the shape of the shoreline relative to a circle, calculated as the ratio of the site perimeter to the perimeter of a circle of equal area (Gibbs et al. 1991).

in our models. Water chemistry may affect bird abundances and assemblages through its impact on the aquatic animal and plant communities (Andrews and Kinsman 1990, Hoyer and Cranfield 1994, Bell et al. 1997).

We also categorized the restoration sites according to their use and amount of public access to account for the impact of human disturbance on water-bird abundance (Tuite et al. 1984, Ward and Andrews 1993, Bell et al. 1997, Evans et al. 1997). We designated 5 types of recreational use and 4 types of public access as factors in the models (Table 1).

Water-bird counts

We obtained bird counts from all of the 256 restoration sites. The subset of 97 restorations was visited every 4 to 6 weeks between October 2004 and September 2006. We obtained a mean of 14.5 counts (range 9–23 visits) from the subset of 97 sites and a mean of 4.1 counts from the remainder of sites (range 123 visits).

We counted all water birds encountered on the water or in the waterside habitats located within clusters of restoration sites in the shortest time period possible to minimize the risk of double counting. Our surveyors circled each restoration site wherever possible to ensure that all water birds were seen. We also grouped species into guilds, based on their feeding behavior; these guilds included geese, dabbling ducks, diving ducks, diving species, grazers, piscivores, and waders (Pöysa 1983). Counts conducted at dawn and dusk were likely to be higher than at other times, and to account for this possible variation, we designated these counts separately as peak counts in the analyses.

Movements of water birds

We employed bird detection radar to quantify the scale and frequency of bird movements at restoration sites. The radar was based on marine S-band surveillance radar and was capable of detecting birds to a distance of 6 nautical miles. We tracked, plotted, and counted bird echoes using GIS (ArcView GIS 9.1, ESRI, Redlands, Calif.). We counted only the numbers of bird tracks that started or ended in each water body. This process eliminated most non-water-bird movements from the analyses and enabled us to assess how the properties of

different water bodies influenced the numbers of birds utilizing them. All data were limited to those sites with good radar coverage.

Data analyses

We performed analyses for total water-bird abundance, abundances of the species guilds, the abundances of mallards (*Anas platyrhynchos*) and tufted ducks (*Aythya fuligula*), frequency of bird movements, presence of geese, and presence of gulls. Only the models for total water abundance, bird movements, and presence of geese and gulls are reported here.

We divided all the count data between the breeding (April–July) and nonbreeding seasons (August–March) and analyzed these data separately. This division aided the analyses by removing the seasonal variation in the data caused by migratory behavior and possible differences in the use of restorations by water birds between the nonbreeding and breeding seasons (Pöysa 1984, Owen et al. 1986).

Total water-bird abundances were \log_{10} +1 transformed prior to analyses to achieve homoskedasticity. We then used linear mixed-effect regression analysis to build models using the restoration site parameters of interest.

Distributions of the geese and gull counts were highly skewed. However, transforming the counts did not achieve homoskedasticity because geese and gulls were absent from many of the restorations. Therefore, we modeled the distribution of geese and gull counts by 2 methods. First, to model the abundances, we omitted the sites where they were absent from the analyses. In this way, the abundance data could be log₁₀ +1 transformed to achieve homoskedasticity and models abundances could be constructed using linear mixed-effect regression analysis. Second, to predict the probability of presence or absence, we constructed generalized linear mixed models using restricted likelihood estimation and assuming a binomial distribution.

We used the mixed-effect models to account for possible correlations between the repeated counts at each site and correlations between the counts from sites within the same clusters. Thus, site nested in cluster was the random effect model fitted.

Two subsets of the data on restoration

site features were used to model the bird abundances and presence (see Table 1). Subset 1 was composed of the geo-spatial and morphological features that we measured using GIS software. It comprised data from all 256 restorations. Subset 2 was composed of the parameters concerning the biology, water chemistry, and use of the restorations, as well as the parameters from Subset 1. It comprised data from the subset of 97 restorations where we had collected the additional data. For both data subsets, we investigated each restoration site feature and their interactions during model building.

For the linear mixed effect analyses of abundances, we used a multi-modal inference approach with Akaike's Information Criterion (AIC) to identify the best supported models (Burnham and Anderson 2002). We then assessed the best-supported models in each subset of the data by comparing the Akaike weights (Rushton et al. 2004) and R2 values (Magee 1990, Xu 2003). Favored models were the least complex and made the most intuitive ecological sense. We then reran the most suitable pairs of models using restricted likelihood estimation to generate unbiased parameter estimates (Pinheiro and Bates 2000).

For the general linear mixed-model analyses for the probabilities of presence, we judged the assessment of the importance of individual predictive parameters using Wald statistics (Welham and Thompson 1997), residual diagnostics, and complexity. This allowed us to identify the best-supported models.

We obtained good coverage of radar-tracked bird movements from 26 restorations that were located within 4 clusters of sites in the Thames valley. These data were sufficient to model which restoration features affected bird movements. We analyzed the data using a third subset of the restoration site features (Subset 3) as predictors of the total number of tracked movements, Table 1. Prior to analysis, we transformed the movements using \log_{10} + 0.1 to achieve homoskedasticity. We derived linear regressions using each restoration feature, combination of features, and their interactions as explanatory variables in separate models. We then used a multi-modal inference approach to identify the best-supported model(s) as described above.

Results Predicting water-bird abundance

The models for total water-bird abundance explained more variation than the other models of abundance (Appendix 1). Here, we present these models as the best predictive tools for estimating abundances in the breeding and nonbreeding seasons. The following Subsets 1 and 2 models were selected and can be used to predict total water-bird abundance in the nonbreeding and breeding seasons.

Subset 1, nonbreeding season model. \log_{10} (total water-bird abundance +1) = 1.091+ 0.946 (\log_{10} area of open water) - 0.003 (number of adjacent sites) + 0.017 (number of islands) + 0.112 (if in region 2) + 0.059 (if in region 3) + 0.142 (number of islands if in region 2) - 0.017 (number of islands if in region 3).

Subset 2, nonbreeding season model. \log_{10} (total water-bird abundance +1) = 0.546 + 1.392 (\log_{10} area of open water) – 0.006 (number of adjacent sites) + 0.581 (if category 2 public access) + 2.280 (if category 3 public access) + 0.751 (if category 4 public access) – 0.146 (if islands are present) + 0.392 (\log_{10} area of open water if islands are present) – 0.166 (\log_{10} area of open water if category 2 public access) – 2.068 (\log_{10} area of open water if category 3 public access) – 0.597 (\log_{10} area of open water if category 4 public access).

Subset 1, breeding season model. \log_{10} (total water-bird abundance +1) = 0.978 + 0.695 (\log_{10} area of open water) + 0.041 (number of islands) + 0.080 (if islands are present) + 0.011 (if in region 2) - 0.080 (if in region 3) + 0.175 (number of islands if in region 2) - 0.040 (number of islands if in region 3).

Subset 2 breeding season mode. \log_{10} (total water bird abundance +1) = 0.730 + 0.596 (\log_{10} area of open water) – 0.011 (number of adjacent sites) + 0.296 (if category 2 public access) + 0.526 (if category 3 public access) + 0.267 (if category 4 public access) + 0.046 (if 2 vegetation types are adjacent to bank) + 0.159 (if 3 vegetation types are adjacent to bank) + 0.743 (if 4 vegetation types are adjacent to bank) + 0.294 (if 5 vegetation types are adjacent to bank) + 0.188 (if short grass is adjacent to bank) + 0.163 (if islands are present) + 0.007 (\log_{10} area of open water × the number of adjacent sites).

The area of open water, the presence and number of islands, as well as regional effects and the type of public access were important

Table 2a. Parameter estimates from the Subset 1 and Subset 2 models selected to predict total waterbird abundances during the nonbreeding season. (Refer to Table 1 for definitions of each parameter.)

Model	Parameters	Effect	SE	<i>t</i> -value	<i>P</i> -value
Subset 1	Intercept	1.091	0.122	8.917	< 0.001
	Area of open water	0.946	0.069	13.648	< 0.001
	No. of sites in the cluster	-0.003	0.002	-2.103	0.018
	No. of islands	0.017	0.024	0.710	0.239
	Region 2	0.112	0.135	0.824	0.205
	Region 3	0.059	0.119	0.501	0.308
	Region 2 × No. of islands	0.142	0.057	2.471	0.007
	Region 3 × No. of islands	-0.017	0.026	-0.669	0.252
Subset 2	Intercept	0.546	0.181	3.021	0.001
	Area of open water	1.392	0.159	8.737	< 0.001
	No. of sites in cluster	-0.006	0.002	-3.202	0.001
	Public access 2	0.581	0.257	2.262	0.012
	Public access 3	2.280	0.607	3.756	< 0.001
	Public access 4	0.751	0.201	3.736	< 0.001
	Islands present	-0.146	0.188	-0.779	0.218
	Area of open water × Islands present	0.392	0.191	2.058	0.020
	Area of open water × Public access 2	-0.166	0.273	-0.609	0.272
	Area of open water × Public access 3	-2.068	0.726	-2.849	0.002
	Area of open water × Public access 4	- 0.597	0.195	- 3.058	0.001

Table 2b. Parameter estimates from the Subset 1 and Subset 2 models selected to predict total waterbird abundances in the breeding season. (Refer to Table 1 for definitions of each parameter.)

Model	Parameters	Effect	SE	<i>t</i> -value	<i>P</i> -value
Subset 1	Intercept	0.978	0.121	8.093	<0.001
	Area of open water	0.695	0.068	10.164	0.000
	No. of islands	0.041	0.034	1.212	0.113
	Islands present	0.080	0.067	1.185	0.118
	Region 2	0.011	0.132	0.086	0.466
	Region 3	-0.080	0.118	-0.681	0.248
	Region 2 × No. of islands	0.175	0.058	3.026	0.001
	Region 3 × No. of islands	-0.040	0.034	-1.176	0.120
Subset 2	Intercept	0.730	0.142	5.149	< 0.001
	Area of open water	0.596	0.126	4.719	< 0.001
	No. of sites in cluster	-0.011	0.003	-3.479	< 0.001
	Public access 2	0.296	0.111	2.655	0.004
	Public access 3	0.526	0.127	4.156	0.000
	Public access 4	0.267	0.091	2.949	0.002
	Habitat diversity 2	0.046	0.093	0.490	0.312
	Habitat diversity 3	0.160	0.116	1.376	0.085
	Habitat diversity 4	0.743	0.211	3.532	< 0.001
	Habitat diversity 5	0.294	0.189	1.556	0.060
	Short grass present	0.188	0.082	2.284	0.011
	Islands present	0.163	0.076	2.161	0.016
	Area of open water × No. of sites in cluster	0.007	0.003	2.415	0.008

Table 3a. Parameter estimates from the Subset 1 and Subset 2 models that can be used to predict the probability of geese occurring at new restorations during the nonbreeding season. (Refer to Table 1 for definitions of each parameter.)

Model	Parameters	Effect	SE	<i>t</i> -value	<i>P</i> -value
Subset 1	Subset 1 Intercept		0.445	-5.851	< 0.001
	Area of open water	1.958	0.303	6.459	< 0.001
	Islands present	0.972	0.243	4.005	< 0.001
	No. of sites in cluster	-0.013	0.005	-2.530	0.006
	Region 2	0.752	0.429	1.754	0.040
	Region 3	-0.303	0.372	-0.813	0.208
Subset 2	Intercept	-14.725	3.302	-4.460	< 0.001
	Perimeter	3.705	0.979	3.784	< 0.001
	Potassium hardness	0.293	0.110	2.670	0.004
	During peak count times	0.503	0.242	2.083	0.019
	Short grass present	1.096	0.524	2.090	0.019
	Additional fish stock present	-1.035	0.527	-1.963	0.025

Table 3b. Parameter estimates from the Subset 1 and Subset 2 models that can be used to predict the probability of geese occurring at new restorations during the breeding season. (Refer to Table 1 for definitions of each parameter.)

Model	Parameters	Effect	SE	<i>t</i> -value	P-value
Subset 1	Intercept	0.107	0.662	0.162	0.436
	Islands present	1.430	0.291	4.908	≤0.001
	Length of shoreline in the cluster	-0.1×10^{-3}	0.1×10^{-4}	-3.189	0.001
	Area of open water	0.9320	0.465	2.007	0.023
	Region 2	-0.4619	0.615	-0.751	0.226
	Region 3	-1.3679	0.546	-2.507	0.006
	Area of open water × Length of shorline in the cluster	re- 0.3 × 10 ⁻⁴	0.1×10^{-4}	2.897	0.002
Subset 2	Intercept	-8.329	10.403	-0.801	0.212
	Perimeter	4.383	1.180	3.714	< 0.001
	Potassium hardness	0.602	0.184	3.268	0.001
	Reeds (%)	-0.027	0.011	-2.430	0.008
	No. of sites in cluster	-0.078	0.036	-2.165	0.016
	No. of islands	0.821	0.382	2.147	0.016
	Region 2	-3.077	1.574	-1.956	0.026
	Region 3	-4.416	1.660	-2.661	0.004
	Water pH	-0.591	1.257	-0.470	0.319
	No. of sites in cluster × No. of island	ls -0.010	0.005	-2.126	0.017
Subset 2	No. of sites in cluster × Region 2	0.026	0.045	0.580	0.281
	No. of sites in cluster × Region 3	0.084	0.038	2.244	0.013

parameters in all the models. Habitat diversity and the presence of short grass also explained significant variation in total water-bird abundance in the breeding season (Tables 2a and 2b).

Example of model implementation. Using the

Subset 1 model for a new restoration located in southern England with open water covering 3 ha, 5 islands and 10 adjacent restorations total water-bird abundance during the nonbreeding season can be estimated as:

 log_{10} (total water bird abundance +1) = 1.571 Total water bird abundance = 36.27.

The estimated 95% confidence intervals calculated using the restricted likelihood analyses variance-covariance matrix (not shown) are 25.85 and 50.64 birds.

Predicting the occurrence of geese and gulls at new restorations.

We selected the following models derived from Subsets 1 and 2, and these can be used to estimate the probability that geese and gulls will occur in the nonbreeding and breeding seasons.

Subset 1, nonbreeding season models. Logit (probability of geese occurrence) = -2.601 + 1.958 ($\log_{10'}$ area of open water) + 0.972 (if islands are present) - 0.013 (number of adjacent sites) + 0.752 (if in region 2) - 0.303 (if in region 3).

Logit (probability of gull occurrence) = -1.632 + 2.011 (log₁₀ area of open water) -0.014 (number of adjacent sites).

Subset 1 breeding season models. Logit (probability of geese occurrence) = 0.107 + 1.430 (if islands are present) -0.1×10^{-4} (summed perimeter of all adjacent sites) +0.932 (\log_{10} area of open water) -0.462 (if in region 2) -1.368 (if in region 3) $+0.3 \times 10$ -5 (\log_{10} area of open water \times summed perimeter of all adjacent sites).

Logit (probability of gull occurrence) = -3.127 + 1.941 (log₁₀ area of open water) + 0.003 (number of adjacent sites).

Subset 2 nonbreeding season models. Logit (probability of geese occurrence) = -14.725 + 3.705 (log₁₀ perimeter) + 0.293 (potassium hardness) + 0.5032 (if calculating peak numbers at dawn or dusk) + 1.096 (if short grass adjacent bank) - 1.035 (if additional fish stock).

Logit (probability of gull occurrence) = -2.311 + 2.998 (\log_{10} area of open water) -1.074×10^{-5} (the summed perimeter of all adjacent sites) -0.558 (area of islands) +0.455 (if category 2 usage) -0.926 (if category 3 usage) -0.497 (if category 4 usage) +0.193 (if category 5 usage).

Subset 2 breeding season models. Logit (probability of geese occurrence) = -8.329 + 4.383 (log₁₀ perimeter) + 0.602 (potassium hardness) - 0.027 (% reed abundance) - 0.078 (number of adjacent sites) + 0.821 (number of islands) - 3.0771 (if in region2) - 4.4159 (if in region 3)

-0.591 (water pH) + 0.026 (number of adjacent sites if in region 2) + 0.084 (the number of adjacent sites if in region 2) - 0.010 (the number of adjacent sites × number of islands).

Logit (probability of gull occurrence) = -30.864 + 6.117 (\log_{10} perimeter) + 10.080 (if in region 2) + 14.292 (if in region 3) + 8.230 (number of islands) - 0.015 (number of adjacent sites) + 1.407 (if category 2 access) + 1.396 (if category 3 access) - 0.682 (if category 4 access) + 0.023 (number of adjacent sites × number of islands) - 4.514 (sinuosity if in region 2) - 7.710 (sinuosity if in region 3) – 2.644 (\log_{10} perimeter × number of islands).

In the nonbreeding season, the size of a restoration (especially the amount of shoreline), number of adjacent sites, presence and number of islands, presence of additional fish stock, short grass, and some differences between regions were important determinants of geese occurrence. Reed cover also was important during the breeding season (Tables 3a and 3b). Area of open water, number of adjacent restorations and their shape, size of islands, and site usage had important effects on gull presence in the nonbreeding season. In the breeding season, gull presence differed among regions and was also affected by the number of islands, restoration shape and type of public access (Tables 4a and 4b).

Example of model implementation. Using the Subset 2 model of geese occurrence, a new restoration with a 600-m perimeter, with no additional fish stock, short grass present, and a potassium hardness of 5 odh gives a likely geese presence at dawn or dusk (i.e., at peak count time) in the nonbreeding season as:

```
Logit geese occurrence
= -14.725 + 3.705(\log_{10}600 + 0.293 \times 5 + 1.096 + 0.503
= -1.368
```

Probability of geese occurrence

$$= \frac{\exp(-1.368)}{1 + \exp(-1.368)} = 0.20.$$

Therefore, the predicted probability of geese occurrence is 20%. The estimated 95% confi-

Table 4a. Parameter estimates from the Subset 1 and Subset 2 models that can be used to predict the
probability of gulls occurring at new restorations during the nonbreeding season. (Refer to Table 1 for
definitions of each parameter.)

Model	Parameters	Effect	SE	<i>t</i> -value	P-value
Subset 1	Intercept	-1.632	0.246	-6.634	< 0.001
	Area of open water	2.010	0.250	8.048	< 0.001
	No. of sites in cluster	-0.014	0.004	-3.214	0.001
Subset 2	Intercept	-2.311	0.426	-5.430	< 0.001
	Area of open water	2.998	0.514	5.829	< 0.001
	Length of shoreline in the cluste	er -0.1×10^{-4}	$0.4x10^{-5}$	-3.036	0.001
	Area of islands	-0.558	0.237	-2.353	0.009
	Site usage 2	0.455	0.380	1.197	0.116
	Site usage 3	-0.926	0.416	-2.223	0.013
	Site usage 4	-0.497	0.660	-0.753	0.226
	Site usage 5	0.193	0.619	0.312	0.377

Table 4b. Parameter estimates from the Subset 1 and Subset 2 models that can be used to predict the probability of gulls occurring at new restorations in the breeding season. Refer to Table 1 for definitions of each parameter.

Model	Parameters	Effect	SE	t-value	P-value
Subset 1	Intercept	-3.127	0.490	-6.376	<0.001
	Area of open water	1.941	0.399	4.864	<0.001
	No. of sites in cluster	0.003	0.013	0.274	0.392
Subset 2	Intercept	-30.864	7.300	-4.228	<0.001
	Perimeter	6.117	1.727	3.541	<0.001
	Region 2	10.080	4.799	2.101	0.018
	Region 3	14.292	5.033	2.840	0.002
	No. of islands	8.230	4.201	1.959	0.025
	No. of sites in cluster	-0.015	0.011	-1.346	0.090
	Public access 2	1.407	0.716	1.965	0.025
	Public access 3 Public access 4	1.396 -0.682	0.855 0.705	1.633 -0.968	0.052 0.167
	No. of sites in cluster x No. of islands Region 2 x sinuosity	0.023 -4.514	0.010 2.546	2.420 -1.773	0.008 0.039
	Region 3 x sinuosity Perimeter x No. of islands	-7.710 -2.644	2.740 1.265	-2.814 -2.091	0.003 0.019

Table 5. Parameter estimates from the predictive model of radar-tracked bird movements per hour.

Parameters	Effect	SE	<i>t</i> -value	P-value
Intercept Area of open water	-1.071	0.186	-5.770	<0.001
	1.397	0.209	6.701	<0.001

likelihood analyses variance-covariance matrix (not shown) would be 8% and 44%.

Predicting water-bird movements

The most suitable model comprised a simple

dence intervals calculated using the restricted linear regression that used the area of open water as the only predictor of the number of bird movements per hour (area of open water, F1-24 = 44.9, R2 = 0.637, P < 0.001; Table 5), where, log_{10} (bird movements/hour + 0.1) = -1.071 + 1.397 (log₁₀ area of open water).

Example of model implementation. For a new restoration with 8.5 ha of open water, the model gives an estimated number of bird movements as:

```
(\log_{10} + 0.1) bird movements/hour = -1.071 + 1.397 (\log_{10} 8.5 \text{ ha}) = 0.23 
Bird movements/hour = 10^{0.22817} - 0.1 = 1.591102.
```

Therefore, the predicted number of movements is 1.59 birds per hour. The estimated 95% confidence intervals calculated using the restricted likelihood analyses variance-covariance matrix (not shown) would be 1.02 and 2.46 birds per hour.

Discussion

The predicted impacts that new developments may have on bird-strike risk are rarely quantitative or testable, partly because of the paucity of historical bird-strike data, but also due to a lack of quantitative analyses available in environmental impact assessments (Floater 2002). Current bird-strike risk assessments are subjectively based on the anticipated change a new development will have on local bird populations and their movements (Milsom and Horton 1995, Allan 2001). Now, by using the mathematical models presented here, it is possible to predict hazardous bird abundances and movements for open-water designs of restoration.

We suggest that all predictions for new restorations be based on a comparison of the results obtained from the Subset 1 and Subset 2 models. The highest values predicted by either model in both the nonbreeding and breeding seasons should then be used to help guidance in safeguarding issues.

Although the abundance models can provide broadly accurate estimates, their accuracy is limited to the predictive power of the restoration features that can be quantified at the planning stage. Substantial variation in the data was unexplained by our models. Water depth was an additional factor that was not recorded in our surveys but could be conceived at the planning stage and may have helped explain more variation in our data. Further, unexplained variation in the data may have also concerned differences in the ecological requirements among each bird species or guild.

Our predictions of likely bird movements per hour were based on a model derived from a limited data set. Consequently, the model's application should be speculative; it should be used in conjunction with existing knowledge of local bird movements. The model's predictions should be ground-truthed by field surveys and compared to observed records. The results should be viewed with the following caveats: (1) all predictions only apply to the nonbreeding season; (2) a new restoration's depth, planned use, and the amount of public access may affect the accuracy of the model's predictions; and (3) the predicted frequency of movements may apply only to established mature restorations and, therefore, may be inaccurate for new restorations.

All the models can be applied throughout England but must be limited to the type of restorations that were sampled in our study. These restorations comprised predominantly open-water sites and preclude shallow-water restorations comprising extensive reed beds, mud flats, or other features with little or no areas of open water. More data are needed to better understand how far away from an airport a particular restoration can be before it ceases to have an impact on bird-strike risk.

Management implications

It is of interest to the minerals industry, flight safety, and local planning authorities to understand the likely outcome of site restorations on local bird populations. Often the anticipated change that a new development will have on bird-strike risk can be perceived only subjectively, and, as a result, safeguarding decisions can generate conflict between the developers and safeguarding authorities. The decision-making process could be improved if more objective data were available. Our models can provide the objective data that are needed. Although these models are applicable only in England, the methods used to derive them can be applied anywhere. Our models can help safeguarding authorities protect flight safety without making unnecessary objections to new restorations or the exploitation of mineral resources.

Acknowledgments

The Minerals Industry Research Organization

commissioned this work under the Aggregates Levy Sustainability Fund. We are very grateful to all the landowners, site managers, and tenants for access to their restorations and to their staff for their cooperation. We thank A. Robinson, P. Cropper, P. Plonskier, L. Allen, M. Brown, R. Budgey, M. Parnell, A. Eassom, and H. Pringle for assisting in the collection and collation of the field data.

Literature cited

- Allan, J. R. 1999. The management of problems caused by Canada geese: a guide to best practice. Department of the Environment, Transport and the Regions, Bristol, UK.
- Allan, J. R. 2001. The use of risk assessment in airport bird control. Pages 232–241 *in* Proceedings of Bird-Strike Committee annual meeting, August 27–30, Calgary, Alberta, Canada.
- Allan, J. R. 2002. The costs of bird strikes and birdstrike prevention. Pages 147–153 in L. Clark, editor. Human conflicts with wildlife: economic considerations. Proceedings of the National Wildlife Research Center special symposium, Fort Collins, Colorado, USA.
- Allan, J. R. 2006. A heuristic risk assessment technique for bird strike management at airports. Risk Analysis 26:723–729.
- Andrews, J., and D. Kinsman. 1990. Gravel pit restoration for wildlife: a practical manual. Royal Society for the Protection of Birds, The Lodge, Sandy, Bedfordshire, UK.
- Barnard, S. 1990. Modeling species interactions in a gravel pit lake. Game Conservancy Annual Review 21:113–114.
- Bate, R., J. Bate, C. Bradley, H. Peel, and J. Wilkinson. 1998. The potential contribution of the mineral extraction industries to the UK Biodiversity Action Plan. Report 279. English Nature, Peterborough, UK.
- Bell, M. C., S. N. Delany, M. C. Millet, and M. S. Pollitt, 1997. Wintering waterfowl community structure and the characteristics of gravel pit lakes. Wildlife Biology 3:65–78.
- Bernhardt, G. E., Z. J. Patton, L. A. Kutschbach-Brohl, and R. A. Dolbeer. 2009. Management of bayberry in relation to tree-swallow strikes at John F. Kennedy International Airport, New York. Human–Wildlife Conficts 3:234–238.
- Brown, M., and J. J. Dinsmore. 1986. Implications of marsh size management and isolation for marsh management. Journal of Wildlife Management 50:392–397.

- Burnham, K. P., and D. R. Anderson. 2002. Second edition. Model selection and multi-model inference: a practical information-theoretic approach. Springer-Verlag, New York, New York, USA.
- Cleary, E. C., R. A. Dolbeer, and S. E. Wright. 2006. Wildlife strikes to civil aircraft in the United States 1990–2005. U.S. Department of Transportation, Federal Aviation Administration, National Wildlife Strike Database Serial Report 12. Office of Airport Safety and Standards, Airport Safety and Certification. Washington, D.C., USA.
- Dale, L. A. 2009. Personal and corporate liability in the aftermath of bird strikes: a costly consideration. Human–Wildlife Conficts 3:213–222.
- DeVault, T. L., J. E. Kubel, D. J. Glista, and O. E. Rhodes Jr. 2008. Mammalian hazards at small airports in Indiana: impact of perimeter fencing. Human–Wildlife Conficts 2:240–247.
- Dolbeer, R. A., and S. E. Wright. 2009. Safety management systems: how useful will the FAA National Wildlife Strike Database be? Human— Wildlife Conficts 3:167–178.
- Dove, C. J., N. F. Dashan, M. Heacker. 2009. Forensic bird-strike identification techniques used in an accident investigation at Wiley Post Airport, Oklahoma, 2008. Human–Wildlife Conficts 3:179–185.
- Evans, D. M., and S. Warrington, 1997. The effects of recreational disturbance on wintering water birds on a mature gravel pit lake near London. International Journal of Environmental Studies 53:167–182.
- Fairbairn, S. E., and J. J. Dinsmore. 2001. Local and landscape-level influences on wetland bird communities of the Prairie Pothole region of lowa, USA. Wetlands 21:41–47.
- Floater, G. J. 2002. A risk model for predicting the effects of lakeside developments on wildfowl populations. Journal of Environmental Management 66:307–316.
- Gibbs, J. P., D. G. Longcore, D. G. McAuley, and J. K. Ringelman. 1991. Use of wetland habitats by selected non-game water birds in Maine, Publication 9. U.S. Fish and Wildlife Service, Washington, D.C., USA.
- Giles, N. 1992. Wildlife after gravel: twenty years of practical research by the Game Conservancy and ARC. The Game Conservancy, Fordingbridge, Hampshire, UK.
- Giles, N., M. Street, R. M Wright, V. Phillips, and

- A. Traill-Stevenson. 1989. Food for wildfowl increases after fish removal. Game Conservancy Annual Review 20:137–141.
- Götmark, F. and M. Ålund, 1988. Nest predation and nest site selection on eiders: the influence of gulls. Ibis 130:111–123.
- Green Balance and AERC Ltd. 1998. The potential contribution of the mineral extraction industries to the UK biodiversity action plan. English Nature Research Report 279. English Nature, Peterborough, UK.
- Hart, J. D., A. Colyer, A. Robinson, P. Cropper,
 P. Plonskier, L. Allen, M. Brown, R. Budgey,
 M. Parnell, and J. R. Allan. 2007. Safeguarding mineral extraction site restorations near airports: developing an objective bird strike risk assessment model for hazardous water birds—an aid for environmental assessment policy. Minerals Industry Research Organization, Birmingham, UK.
- Henney, P. J., D. G. Cameron, J. M. Mankelow, N. A. Spencer, D. E. Highley, and E. J. Steadman. 2003. Implications of CAA bird-strike safeguard zones for river sand and gravel resources in the Trent Valley. Report for the CBI Minerals Committee and the Quarry Products Association. Keyworth, Nottingham, UK.
- Hoyer, M. V., and D. E. Canfield, 1994. Bird abundance and species richness on Florida lakes: influence of trophic status, lake morphology, and aquatic macrophytes. Hydrobiologia 279-280:107–119.
- ICAO. 2000. Aerodromes: aerodrome design and operations (safety). Volume I. International Civil Aviation Organization, Montreal, Canada.
- JNCC. 2004. Handbook for phase 1 habitat survey—a technique for environmental audit. Revised. Joint Nature Conservation Council, Peterborough, UK.
- Magee, L. 1990. R² measures based on Wald and likelihood ratio joint significance tests. American Statistician 44:250–253.
- Milsom, T., and N. Horton. 1995. Bird strike: an assessment of the hazard on UK civil aerodromes, 1976–1990. Bird Strike Avoidance team, Ministry of Agriculture, Fisheries, and Food, London, UK.
- Owen, M., G. L. Atkinson-Willes, and D. G. Salmon. 1986. Wildfowl in Great Britain Second edition. Cambridge University Press, Cambridge, UK.
- Peurach, S., C. J. Dove, and L. Stepko. 2009. A

- decade of U.S. Air Force bat strikes. Human–Wildlife Conficts 3:199–207.
- Pinheiro, J., and D. M. Bates. 2000. Mixed effects models in S and S-plus. Springer-Verlag, New York, New York, USA.
- Pöysa, H. 1983. Resource utilization pattern and guild structure in a waterfowl community. Oikos 40:295–307.
- Pöysa, H. 1984. Temporal and spatial dynamics of waterfowl populations in a wetland area—a community ecological approach. Ornis Fennica 61:99–108.
- Pöysa, H. 1988. Do foraging teal exploit gulls as early warners? Ornis Scandinavica 19:71–72.
- Robinson, A., C. Deppe, R. Walls, M. Brown, I. Fisher, D. G. Hoccom, N. Ratcliffe, R. Roberts, and K. W. Smith. 2004. Developing policy and best practice in relation to restoration following minerals extraction—resolving conflicts with aviation. A report to the Minerals Industry Research Organization. Central Science Laboratory, Department for Environment, Food, and Rural Affairs, York, UK.
- Rochard, J. B. A., and N. Horton. 1980. Birds killed by aircraft in the United Kingdom, 1966–1976. Bird Study 27:227–234.
- Rushton, S. P., S. J. Ormerod, and G. Kerby. 2004. New paradigms for modelling species distributions? Journal of Applied Ecology 41:193–200.
- Sillén, B. and C. Solbreck. 1977. Effects of area and habitat diversity on bird species richness in lakes. Ornis Scandinavia. 8:185–192.
- Stoecker, R. E. 1982. Creating small islands for wildlife and visual enhancement. Pages 48–50 in W. D. Sverdarsky and R. D. Crawford, editors. Wildlife values of gravel sites, symposium proceedings, June 24–26, 1982. Miscellaneous Publication 17. Agricultural Experimental Station, University of Minnesota, St. Paul, Minnesota, USA.
- Suter, W. 1994. Overwintering waterfowl on Swiss lakes: how are abundance and species richness influenced by trophic status and lake morphology? Hydrobiologia 279/280:1–14.
- Tiner, R. W. 2003. Geographically isolated wetlands of the United States. Wetlands 23:494–516.
- Tuite, C. H., P. R. Hanson, and M. Owen. 1984. Some ecological factors affecting winter wildfowl distribution on inland waters in England and Wales, and the influence of water-based recreation. Journal of Applied Ecology. 21:41– 62.

VerCauteren, K. C., N. W. Seward, M. J. Lavelle, J. W. Fischer, and G. E. Phillips. 2009. Deer guards and bump gates for excluding whitetailed deer from fenced resources. Human— Wildlife Conficts 3:145–153.

Ward, D., and J. Andrews. 1993. Waterfowl and recreational disturbance on inland waters. British Wildlife 4:221–229.

Welham, S. J., B. Cullis, B. Gogel, A. Gilmour, and R. Thompson. 2004. Prediction in linear mixed models. Australian and New Zealand Journal of Statistics 46:325–347.

Welham, S. J., and R. Thompson. 1997. Likelihood ratio-tests from fixed model terms using residual maximum likelihood. Journal of Royal Statistics Society 56:701–714.

Xu, R. 2003. Measuring explained variation in linear mixed effects models. Statistics in Medicine 22:3527–3541.

JUSTIN D. HART works at the United Kingdom Government Food and Environment Research



Agency where he has been a wildlife researcher for the past 15 years. He conducts research into various aspects of avian ecology and conservation in relation to managing bird populations and safeguarding airfields. His interests also include marine ecology, and he has assisted in research on seabirds in the Azores. He has spent his summers scuba diving and has

served as a whale-watch guide.

ALISON COLYER (photo unavailable)

JOHN R. ALLAN has worked as a specialist in bird-strike prevention for the past 21 years. He



is head of the Birdstrike Avoidance Team at the United Kingdom Government Food and Environment Research Agency (formerly Central Science Laboratory) and is chairman of International Birdstrike Committee. His main research interests are the objective assessment of risk from bird strikes and

development of audit and best practice standards for bird management both on and around airfields. In 2003, he received the Mike Kuhring award for achievements in bird-strike prevention.